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General Instructions :

i. Question paper comprises Six Sections — A, B, C, D, E and F. There are 37
questions in the question paper. All questions are compulsory.

ii. Section A — From question 1 to 20 are MCQs of 1 mark each.



iii. Section B — Question no. 21 to 24 are Very Short Answer Type Questions,
carrying 2 marks each. Answer to each question should not exceed 40 words.

iv. Section C contains Q.25to Q.29 are Short Answer Type Questions, carrying 3
marks each. Answer to each question should not exceed 60 words

v. Section D — Question no. 30 to 33 are long answer type questions, carrying 5
marks each. Answer to each question should not exceed 120 words.

vi. Section-E - Questions no from 34 to 36 are case based questions with three
sub questions and are of 4 marks each

vii. Section F — Question no. 37 is map based, carrying 5 marks with two parts, 37a
from History (2 marks) and 37b from Geography (3 marks).

viii. There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
have to be attempted.

ix. In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A/ ES-T
MCQs (1x20=20)
1. Identify the correct statement with regard to ‘The Act of Union -1707’ from the
following options.
(a)The British monarchy surrendered the power to English Parliament.
(b)The British Parliament seized power from Ireland.
(c)The formation of the ‘United Kingdom of Great Britain’.
(d)The British nation was formed as a result of a war with Scotland and Wales.
afeRad faddbedl § O Hu &1 SfATH -1707' & Gy T Tl HYU- UgdH |
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2. The main theme of the book ‘Chhote aur Bade Ka Sawal’ written by Kashibaba, a
Kanpur mill worker, was:

(a) The life of the elite upper castes.

(b) The link between caste and class exploitation.

(c) Restrictions on the Vernacular Press.

(d) Injustices of the caste system.
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3. Identify the correct option that describes the movement given below.

The movement broke salt laws and also refused cooperation with the British

a. Rowlatt Satyagraha Movement

b. Civil Disobedience movement

c. Non Cooperation Movement

d. Quit India Movement

i fGT 71T 3figia &1 9uiH &=+ are el fadbed &l g |
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4. The plantation workers were not permitted to leave the tea gardens without
permission as per:

(a)Inland Emigration act of 1859

(b) Inland emigration act of 1866

(c) Inland emigration act of 1879

(d) Inland Emigration act of 1859

ST Hi8e] D1 fSH1 ST & 91 STH Bt & 3afd =781 -
(31) 1859 HT ARINT IHA SMAUTH
(F) 1866 BT AT IHAN HfAFTTH
() 1879 T e ITAN fAFaH
(@) 1859 T AT ISAN HfAFTH

5. Which one of the following is the main cause of land degradation in Punjab?
(a) Intensive cultivation  (c) Over irrigation

(b) Deforestation (d) Overgrazing

gole & Y fFEiexor &1 g7 SR Hfiied 3§ 3§ S 91 82
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6. In Bhakra — Nangal project water is being used for 1

i. Hydel power production ii. Irrigation iii. Transportation iv. Cleaning
(a) iandiv (b) iiandi
(c) Only iii (d) Only ii
quﬁqﬁwﬁuﬁm:{q@ﬂ%mmww%

i gfaoTell e, i, RiEs iii. ORdgA iv. TBTg
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7. A type of millet rich in iron, calcium, other micro nutrients and roughage
is
U UDHR BT JToRT TR, heRIAH, 30 & UINH el 3R T&= F HRQR

(a)Wheat (b) Tea (c) Ragi (d) Rice
@) T @ I™@ @ [ (@ dTad
8.

Match the columns:
COLUMN A COLUMN B
(a) Coalition Government (i) Each organ of the government checks the other
MOdY HXhR HIDR D[ YD Wgﬂ%ﬁ\ﬂld ObQ('II%r
(b) Civil War [8g& (ii) Government of more than two political
Parties
31 Y 3P IS Bt WBR
gal|
(c) Check and Balance (iii) Power may also be shared among
G‘Iﬂmaﬁﬂﬁ different social groups.
I T SeaRT Ht g1 IhdT &
ICIRPESIGISERSEE




(d) Community Government | (iv) A violent conflict between opposing

IhR Groups.
: S N o~

RNEEL

Choose the correct options: ﬂgbf famey ﬂ%f
(a) (a) (i), (b) (iv), (c) (ii), (d) (iii)

(b) (a) (ii), (b) (iii), (c) (i), (d) (iv)

(c) (a) (i), (b) (iv), (c) (iii), (d) (ii)

(d) (a) (i), (b) (iv), (c) (i), (d) (iii)

S S in Belgium is a good example of power sharing among different
social groups.

(a) Community Government (b) District Government
(c)Central Government (d) State Government

.................... sfestay o faftd Iramioie 99gi & dfid Il 1 AriaR! &1 Uh
31 3aTERUI g |

(3) IHERIS WBR (@) e TWHR

[@hhg IRBR (SHRTT TRBR

10. Which of the following subjects is not included in the state list?

Fraffad 3 @ o o fave e = 7 i 78 82

(a) Law and order (b) National defence

(c) Education (d) Agriculture

(3) PR TIRT @) IsHIE @) Ran @ I
11. The hierarchical unequal roles assigned to men and women by the society is
known as

gmﬁmwaﬁ?ﬂ%waﬁﬁ@ﬁﬁ TGTISh U STH Y{HETE ST SITdT

(a) sex ratio (b) equal wages ratio (c) gender division (d) male ratio

(31) o1 SrgUId (@) Tu Hoig 3UTd (&) i T faume (@ g2y Srurd
12. Several parties compete for power and more than two parties have a
reasonable chance of coming to power either on their own strength or in alliance
with others. It is called

®s oo Il & fore ufaaef ovd § SR a1 ¥ 31 gall & 3 BT Ifad 3R
& T H 1 Al 310 9 R I1 QORI & 1Y ST $Hb | I8 Hel oidl §

(a) Multi-party system (b) One-party system

(c) Bi-party system (d) None of these
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13. There are two statements marked as Assertion (A) and Reason (R). Mark your
answer as per the codes provided below:

S YT (A) SR BRUT (R)F FUF RART R s I TR R U e &
TR YT IR <

Assertion (A): Democracy is not simply rule by majority opinion. The majority
always needs to work with the minority.

SHUBY (A) : ADTH HIA TgHA 1 G Y R 61 ¢ | TgHd B gHRM
D o 1Y HTH B B oRexd gial 6

Reason (R): Rule by majority does not become rule by majority community in terms
of religion or race or linguistic group, etc.

DHRUT (IR): 4 T SIfT AT HINTS T, 31fe & A § Sg0d ¥ AN dg9id
TG §RI YN 8] 89 A1 6|

fdeey:

Options:

(a) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true but R is not the correct explanation of A.

(c) Aistrue but Ris false. (d) Ais false but R is true.

(31) QIR IR G § & 3R IR T Pl Hel AT T

@) U 3R R THI I § Al 3R T HT Ug! WPIHR0 781 g

@) TIGgAPTARTAdE] () TIAd g Afp 3R Tal g

14. Read the given data and find out which country has most equitable distribution
of income.

ﬁqw%ariﬁﬁﬁu%aﬁvwﬁ%m%wﬁmmmamw
faaRur g

Countries Monthly Income of Citizens in four countries in 2018
Citizen | Citizen | Citizen Ill Citizen IV Citizen V Averag
Il e
Country A 10,500 11,200 |10,800 11,000 10,700 10,840
Country B 300 5,000 |600 600 600 1,480
Country C 550 10,500 [400 7,500 2,000 4,190




Country D 800 4,800 |700 5,000 750 2,410

(@) Country A (b) Country B (c) Country D (d) Country C

15. Suppose there are four families in your localities, the average per capita income
of whom is Rs. 15,000. If the income of three families is Rs. 10,000,Rs. 8,000 and Rs.
14,000 respectively, what would be the income of the fourth family?

AT <ifSTT 3 gaTe # IR URAR 8, foee! 3iid ufd safad 3 =. 15,000
gfe = gRaRI &t 3T 3. 10,000 3. 8,000 3R ¥ . 14,000 HHTT:, T URAR B

3T T BRI
(a) 20,000 (b) 25,000 (c) 27,000 (d) 28,000
(31) 20,000 @) 25,000 () 27,000 (@) 28,000

16. Read the given information carefully, and answer the question that follows:

& TS TSR &1 AFYEa® Ug, 3R - fGT T el & SR <

Rita has taken a loan of 7 lakh from the bank to purchase a car. The annual interest
rate on the loan is 14.5 per cent and the loan is to be repaid in 3 years in monthly
installments. The bank retained the papers of the new car as collateral, which will
be returned to Rita only when she repays the entire loan with interest.

T A PR WEA & o db I < 7 ARG 1601 forn| R 1o TS G B0 14.5
TR § 3R B0 &l AR (b=l & 3 I H gHrT STHT § | § SRBRR X1
T & U H 75 HR & HITS, S I ! aH AleTe ST ofd a8 YR &1

YT R Il ST Afgd BTl

Analyse the loan information given above, select the correct option.

(a) Mode of re-payment (b) Terms of credit

(c) Interest on loan (d) Deposit criteria.
SR &I T3 B THGR] BT (A0 B, To! fadbed ol 99 B |

(3 TAYTIH HT a<iT (@) HfscHad

@) BU RN (@) SHIHAGS

17. Read the given statements in context of ‘globalisation” and choose the correct
option.

(a) It is the only way for economic development of the country.

(b) Interlinks only production based activities in dispersed locations in the world.
(c) It has always given only positive results in all the countries.

(d) Leads to spread of technology, cultures and diseases from a region to another.
fau T HY w1 Asfipor & Yg § ug 3R g fabeu H1 g o |

(31) TG R P M f[aHr HT THHH N1 5 |




(@) g H ol gURIH! H dhad IcdTe TR TiAfafeal &l siedr g
() 99 gt N A gAY had JHRIHS oy feu |
%({'c{) TP &F U g &7 T Ueiiant, Tepfadl 3R fTHiiedl o TR &1 31 ST

18. Choose the correct statement about factors regarding Globalisation in India:
1. Improvement in transportation technology.

2. Liberalisation of foreign trade and foreign investment.

3. Favourable rules of WTO towards India in comparison to developed countries.
Choose the correct options from the codes given below:

(@)Onlyland2 (b)Onlyland3 (c) Only 2 and 3 (d) Only 3

YRA & 3R o HRD| b TR H Tal HYF I

1. GRag ! & gUR|

2. fac=it R SR fac=ht Faw &1 IgRieHRu|

3. fanRd 420 &1 a1 & YR & Uid fay MUR 16 & 3ihd Fam|
4 fau T4 e O Tet fddhed &1 g &

(3) HAA1 3R 2 @) Had 13MR 3

() $Had 2 3R 3 (@) Had 3

19. Which of the following statements are true regarding the organized sector?
TMfed & & ey H Fufafed § A S A Sy I 82

(a) Workers in the organized sector enjoy the security of employment.

(b) They are expected to work only a fixed number of hours.

(c) If they work more, they have to be paid overtime by the employer.

(d) All of the above.

(30) TS & P BRI DI ASHR B YRET I 5|

@) 399 pad Fd 9 HTH B Bl IHIE DI STl B

(@) Tl I 3P HH B 8, Al I8 AT GRT TARCTZH BT YT BT
BRG]

(@) SWIad gt

20. Which of the following is the newer way of providing loans to the rural poor,
particularly women?

(a) cooperative banks

(b) Grameen banks

(c) Self help groups

(d) Money Lenders
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SECTION B/ TS ot

Very Short Answer Questions (2x4=8)/ 3 [Nk3| SR Uy (2x4=8)
21. What was silk route ? Give the significance of Silk route.

IH AT T YT ? SYPT Hed §d1SU |

22. Name two state of India where primitive subsistence farming is found.

HRd & &I I & A1 §d153 STl 3ifer Rats Wl urg Sl 8|
Or

In the present time the demand of jute products is decreasing. Why?
JTH JHY T SC SdIe] & HiTT HH gidl o Xg! g | adi?
23. What do you mean by civil war?
TegG ¥ 310 &1 7 a1 g2
24. What do you understand by disguised unemployment?
TS d SRISHTRY ¥ 31T T T § 2
SECTION ¢/ WS ¥t

Short Answer Type Questions (3X5=15)/ @Y ST WY (3X5=15)
25. What were the fears of people about the printed books?
giod qxde! o IR T Al T S HT UT?

OR

Explain any three factors responsible for the invention of new printing techniques.
T GRU Ah-1D| & HTTHR o o1 IRar figl i HRD| B RS e |
26. How is the national thermal power Corporation helping to reduce
environmental pollution? WW%@WWW@WWﬁ
ford UPR AaE HR Q1 82

27. Write three main features of 73rd Constitutional amendment act, 1992.

739 e F=ne AT, 1992 1 ofi- e favvan faRau|

28. Why do you think of ‘'MGNREGA’ 2005 is referred to as Right to Work?
3T 3 Frad g fob TR 2005 &) BT BT SIBHR HeT 747 52

29. What measures can be taken by the government of India to make




Globalization fairer? Explain.
AofiHRUr B YU §H & oI HRA IRBR GRT 1 IUM fHT o1 9ohd g2
WY B

SECTION D/ &S 1

Long answer type questions (5x4=20)/ $rdf ST U (5x4=20)
30. Describe the explosive conditions prevailed in Balkans after 1871 in Europe.
TR T 1871 & §IE dledhd H T fawpies Rufadl &1 guia Sifom|
OR
“Napoleon had, no doubt, destroyed democracy in France, but in the administrative
field he had incorporated revolutionary principles in order to make the whole
system more rational and efficient.” Support the statement.

"JUIfera A ARdE Wik § didhad Bl 9Y B 1T 4T, i U=+ & o
3T T TR DI HfUH THUTd 3R W §H o oY Hifddr! Rgial ol
M B AT 1" HYF BT IHLH B

31. Describe the need and measures for conservation of energy resources.
3ol ST o TREUT DT STARIDH T Td IURIT T U B |
OR
Give an account on non-conventional source of energy.

oIl b TR-URYRS Fd IR T faavur o

32. What is meant by national parties? State the criteria for recognising a party
as national and state party.

IS el T T o B2 foell &t bl AP STR T & o = H WAl oA
& AMES IdisU|

OR
Define political party and describe any four challenges before the political party in
India.

SIS &d Bl TRHITNT ST aUT HRd H ISHIde ad & A fhol IR
Al &1 gl Fifora|

33. Write the main differences between formal sector of credit and informal sector
of credit.

TRE & SR & 3R TR & SRS &7 & §id T& 3R fafau|
OR

“Cheap and affordable credit is essential for poor households both in rural and
urban areas.” In the light of the above statement explain the social and economic
values attached to it.



"TTHIOT 3R RMEXT G & H RIS URAR]T o forg T 3R dg-11 B0l {a=adh
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HifoTd |
SECTIONE/ TS &
CASE BASED QUESTIONS (4x3=12)/ & JTHTRT UH(4x3=12)

34. Read the source given below and answer the questions that follow by choosing
the most appropriate option:
As the national movement developed, nationalist leaders became more and more
aware of such icons and symbols in unifying people and inspiring in them a feeling
of nationalism. During the Swadeshi movement in Bengal, a tricolour flag (red,
green and yellow) was designed. It had eight lotuses representing eight provinces
of British India, and a crescent moon, representing Hindus and Muslims. By 1921,
Gandhiji had designed the Swaraj flag. It was again a tricolour (red, green and
white) and had a spinning wheel in the centre, representing the Gandhian ideal of
self-help. Carrying the flag, holding it aloft, during marches became a symbol of
defiance.
Another means of creating a feeling of nationalism was through reinterpretation of
history. By the end of the nineteenth century many Indians began feeling that to
instill a sense of pride in the nation, Indian history had to be thought about
differently. The British saw Indians as backward and primitive, incapable of
governing themselves. In response, Indians began looking into the past to discover
India’s great achievements. They wrote about the glorious developments in ancient
times when art and architecture, science and mathematics, religion and culture,
law and philosophy, crafts and trade had flourished. This glorious time, in their
view, was followed by a history of decline, when India was colonised. These
nationalist histories urged the readers to take pride in India’s great achievements in
the past and struggle to change the miserable conditions of life under British rule.
(A) Which colour Were used in the tree colour flag designed by Gandhiji?
(B) What is represented by the Crescent Moon present in the tree colour flag used
during the Swadeshi movement in Bengal?
(C) What were the misconceptions in the mind of the British regarding the Indians?
FATG B HTGHT Ual R dTel UY Uil IR Uciiob! o SR H 31U SIREa gl
Q| &6 H Wl Sigia & aRM, T i 38T (@rd, 831 3R yiem) feomsA
fohaT 7T 471 SH 313 HHd A Sl e YR & 313 Widl &1 Ufaf-ida od




9, 3R T Sfeeist 1, it fegsil SR qaaar! o1 ufafAfa s a1l 1921 0,
TSl 3 TWRIS 3 fowims= &R forar U1l a8 bR @ uep fom (@1d, &7 3R
qha) U 3R N g | U gHAT g1 Ufean o1, Sl W TeradT & Tiefiard
3mef &1 ufaffia wRa U1l A & SRIA FST IoMT, I ST G, Az ol
Udich & 1|
ﬁumﬁamﬁww&mwaﬂgﬁl@mﬁm‘r@nm KPR
3id % 3 URA! B TR a1 b T & RS Bt WIGT1 JT A B
%Euﬂ?ﬂugﬁ%méaﬁﬁ&mm@r@wsﬁm 3OS YRG! i fUsel
3R ST T A, o g W I H | o 4| Sfare B, HRART ¥ YR
D1 AEH U b1 Wiol & [T 3T B 3R G&1 Y= [hdT| i Ure
B &b RIS b & aR H foraT 59 el iR aRdaa, fagM 3R 71for,
o 3R TP, HILT 3R -, RIeT 3R IR fdwRid gT 1 3% fdaR T,
3 TIRARI T o §IE Ud &1 e 311, Ofd HRd &1 SU-aw g3l 34
sfaeTdl A Urd®! T 3rdid H URd &1 A IUdAfd] IR 7Td & 3R
g%ﬁ@ﬁﬁ@%@ﬁﬁﬁﬁﬁ%%ﬂﬁﬂﬁﬁﬁ
31mre farar|
(3n) TRt St GRT FEoTm= ford T g I & S | I AT I JRNT fobar T U
g@gﬁmﬁ%@m%%mq&@%%ﬁ%aﬁaw
?
) 3USI & AT H HRAT! BT ABR T TAdb el of?

35. Dam is a barrier across flowing water that obstructs, directs or retards the low,
often creating a reservoir, lake or impoundment. "Dam" refers to the spillway or
weir over which or through which it is intended that water will flow either
intermittently or continuously. Dams are classified according to structure, intended
purpose or height. Based on structure and the materials used, dams are classified
as timber dams, embankment dams or masonry dams, with several subtypes.
According to the height, dams can be categorized as large dams and major dams or
alternatively as low dams, medium height dams and high dams.

(A) What is a dam? 1

(B) On what basis are dams classified? 1

(C) What are the multipurpose uses of dams?

Y I5d UM A Uh ST g o Ry I Apdr g, ﬁ%@mw%mzﬂmw%
SRR TP AR, 3 a1 918 BT AT Har g1 97y &7 ardd fuerd a7 fouar @
© e SWR a1 o/ A1enw A g8 WIeT © o6 Ui a1 dl 36 -3 B IT AMAR




e X | Jelf I TR, 3Fasd 36T A1 S alks & IR JHIHhd fabdl STl
g | AT 3R IYTNT 1 T8 T & YR WR, Fiell BY Ahe! &b did], deay
gie a1 TS aTa afel & U 8 Jileed fohdm Sl g, for s s SUUaR gid ¢ |
$ds & YR, it ! g aief 3R Ug@ Jiell a1 dhfeud wu ¥ Hy aie,
AeOH ST dTa e 3R I dief & w9 § aFifeed fohar S b ]

(3) TYRTG?

1

(@) Sieh T aFifenRur fohg YR WR fhar SITar g » 1

(@) i & TgIEINT START AT G ? 2

36. Besides seeking more income, one way or the other, people also seek things like
equal treatment, freedom, security, and respect of others. They resent
discrimination. All these are important goals. In fact, in some cases, these may be
more important than more income or more consumption because material goods
are not all that you need to live. Money, or material things that one can buy with it,
is one factor on which our life depends. But the quality of our life also depends on
non-material things mentioned above. If it is not obvious to you, then just think of
the role of your friends in your life. You may desire their friendship. Similarly, there
are many things that are not easily measured but they mean a lot to our lives. It is
true that if women are engaged in paid work, their dignity in the household and
society increases.
(A) What are material and non-material goods?
(B) Mention any two factors on which quality of life depends other than money?
(C) Do you agree that “if women are engaged in paid work, their dignity in the
household and society increases.”

fob it 9 fordfl TRE 3P T Dt ATed & S{elTdl, TN JHH TR, Wai=d],
R 3R GIRI BT T oi! Tiet off Igd €1 I8 HeHd ¥ Ahd 5. I
Tt eyl deT 8. aRad §, $© Al |, 3 31 g a1 Sifde IuHT 9
31ferer Heayul 8 Yahd § i Hifdd I 81 98 9 S gl & ol U
S & forg =nfeu ! 9, a1 Wifdes il off Bis 399 Wi 9ahdl §, U U
HRD § o W GART Sigd R a1 81 e AR Sfia &1 T[urex SWR
a8 T8 3ifae el W ot Pk wrdt 81 afe ug oo forg Wy TET R,
9 30 Sfiidd § 30 Tl ol YHDHT o IR E Gidd | 319 D! H=d1 ol
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30T PR Ibhd o S TG, Bs Il & g ST T ATUT T8 ST Jebell
dfehT d TR Sfia & fY sga A Tt €
(3N) N MR e aeqy 1 §?
%@ﬁwwwamm P oM TR ¢ & S(QTaT Sita &1 Joraa (R
?
() &1 31U 39 91 ¥ YgHd o [ "afe Afgad gdafie »rf 7 dau gidt &,
a1 TR 3R A H I THHE dedr gl

SECTION F/ TS T
MAP SKILL BASED QUESTIONS (2+3=5)/ HT-IfIT DI TR UY (2+3=5)

37 (a) Two places A and B have been marked on the given outline map of India.
Identify them and write their correct names on the lines drawn near them.

A. Mahatma Gandhi organized a Satyagraha Movement at this place for indigo
planters.

B. Indian National Congress session at this place in 1927.

37(b). On the same outline map of India locate and label any THREE of the following
with suitable Symbols.

a. Salal

b. Kakrapara

c. Bengaluru Software Technology Park

d. Kolkata International Airport (Netaji Subhash Chandra Bose)

(a)mww$wmwaﬁwAsﬁwﬁﬁﬁ%ﬁWw%l 3
UgIIT 3R 370 UTg Tl 78 J@Teii iR 370 Tgl = ferfau|

(31)  HGTAT et 3 e ot Well HA a1l & U 39 R IR JARIE 3Mara ol
3o foar|

(§) 1927 H S RIM WR YR AT HIUYH BT YA |

37(@) | YRd & I TR AR R Fgfefad O 9 faovwel diF &l Iuged
fogl ¥ siferd PITE 3R 37 THifed B
(3f) T
(@) BIHRST
) d‘l(:lb {-IIL%CCM{ COHIQ’1I\7II l-llcb
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37. Note: The following questions are for Visually Impaired Candidates only in lieu
of Q. No.37. Attempt any FIVE questions.
37.1 Name the Place where Mahatma Gandhi organized a Satyagraha Movement

at this place for indigo planters. 1

37.2 Name the Place where the session of Indian National Congress was held in
1927. 1

37.3 Name the State where Salal Dam is located. 1
37.4 Name the State where Kakrapara nuclear plant is located. 1
37.5 Name the State where Chennai Software Technology Park is located. 1
37.6 Name the State where Kolkata International Airport is located. 1

Tic: [Rgfef@d vy Fa ePanfed Hiqart & fav gy G&m37 & &7

qv 81 151 gig w4l & gav g/
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